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ANNOTATION 

 

to the final qualifying work Sattarov Rail Nailevich on the theme: Designing a 

machining shop with the development of a special device for threading 

 

 

Graduation qualification work consists of an explanatory note on 79 sheets of 

typewritten text and a graphic part on 6 sheets of A1 format. 

The note consists of an introduction, five sections, conclusions and includes 6 

figures, 14 tables, 1 annex. The list of used literature contains 50 naming. 

The first section outlines the main provisions for the design of production. 

In the second section, a reconstruction project for the machining shop 

In the third section, a special device has been developed. The necessary 

design and technological calculations have been made. 

In the fourth section, measures have been designed for the safety of life in the 

workplace for lathe work 

The fifth section gives an economic justification for the construction of the 

device. The economic effect of the implementation and the payback period of 

capital investments have been calculated. 

The note ends with conclusions and suggestions.  
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